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QUESTION 1

New: An electric utility is starting an Advanced Meter Infrastructure (AMI) roll-out for their residential customers. The
initial plan is to roll out devices from their manufacturer with potentially three different device models. The customer has
not decided what head-end systems they will use to communicate with these devices. Based on the customer\\'s initial
roll-out strategy, the devices will have to be configured consistently to support existing tariffs for billing. 

Which is a valid consideration to determine the setup of device type administrative data for this implementation? 

A. billing usage rules 

B. the model number 

C. the device\\'s date of manufacturer 

D. valid head-end systems, valid device configuration types, and the electricity service type 

Correct Answer: C 

 

QUESTION 2

Your implementation requires an installation of two types of devices: 

1.

 Electric Smart Meter 

2.

 Gas Manual Meter 

Which two Device Type attributes are required to identify these device types? (Choose two.) 

A. Device Business Object 

B. Service Type 

C. Valid Measuring Component Types 

D. Manufacturer 

E. Serial Number 

Correct Answer: BC 

 

QUESTION 3

Which four statements correctly describe what a Service Agreement Type controls? (Choose four.) 

A. It controls the Late Payment Charge Calculation Method. 



B. It controls the Service Type to be billed. 

C. It controls the valid Rates that can be applied to the service agreement type. 

D. It controls debt age. 

E. It controls where the bill is to be sent. 

Correct Answer: ABCD 

 

QUESTION 4

You are configuring a VEE group to include rules to be executed when loading the initial measurement data (IMD). 

What is the VEE group directly associated with? 

A. Device Type and Measuring Component Type 

B. Measuring Component Type 

C. Device Type 

D. Usage Type 

E. Device Configuration Type 

Correct Answer: E 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (151 152) 

 

QUESTION 5

When the source of a Financial Transaction is canceled, what does it result in? 

A. The source Financial Transaction is deleted and a new reversal Financial Transaction is created. 

B. A new reversal Financial Transaction is created. 

C. The source Financial Transaction status is changed to "Canceled". 

D. The source Financial Transaction is deleted. 

E. No change occurs. 

Correct Answer: A 

 

QUESTION 6

When configuring the Get Scalar Details usage rule, which three attributes can be defined to retrieve scalar values?
(Choose three.) 



A. Unit of Measure 

B. Device ID 

C. Service Quantity Identifier 

D. Time of Use 

E. Service Point ID 

Correct Answer: BDE 

 

QUESTION 7

Usage transactions can contain date breaks. Which is used to supply date breaks? 

A. the Deferred Monitor Calculation Algorithm 

B. the Usage Subscription Type 

C. the requesting system or user input 

D. the Usage Subscription BO 

Correct Answer: B 

 

QUESTION 8

Which usage rule would be used to retrieve scalar measurements and convert the total from one unit of measure to
another? 

A. Get Scalar Details and Math 

B. Get Scalar Details and Apply Formula 

C. A custom set of usage rules must be written. 

D. Get Scalar Details and Axis Conversion 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18187_01.pdf 

 

QUESTION 9

Which three are important Account concepts that must always be followed? (Choose three.) 

A. Accounts expire when there are no active contracts. 

B. An Account can only reference one and only one person at one time. 



C. Every Account has a unique, system-assigned Account ID. 

D. Bills are produced for an account and are sent to the account persons. 

E. An Account references one or more persons. 

Correct Answer: BCD 

 

QUESTION 10

A device has one or more measuring components that measure consumption, demand, or other values. 

Which lists two attributes of a measuring component? 

A. Channel Multiplier and Channel ID 

B. Channel ID and Badge Number 

C. Serial Number and Badge Number 

D. Model and Serial Number 

E. Manufacturer and Model 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18187_01.pdf (8) 

 

QUESTION 11

Which three statements are true about initial measurements, final measurements, and usage? (Choose three.) 

A. Usage is a synonym for bill determinants. 

B. The initial measurement data can be optionally stored in Raw format. 

C. A service point can have more than one initial measurement for the same period, but only one final measurement. 

D. Final measurements can be directly edited or updated by users or by automated processes as required. 

E. Usage is loaded in the application to generate final measurements. 

Correct Answer: CDE 

 

QUESTION 12

When creating a new business object for a service point (SP), what items are required to be able to view and update the
new elements associated with the SP? 

A. Maintenance Object, Application Service, and Schema 



B. Schema, Validation Algorithm, and Maintenance UI Map 

C. Display UI Map, Display Map Service Script, and Maintenance UI Map 

D. Validation Algorithm, Post Processing Algorithm, and Lifecycle 

Correct Answer: A 
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